
5506/ I   P. T. O. 

CLASS : 10th (Secondary) Code No. 5506 
Series : Sec. April/2021 
Roll No.           

foKkufoKkufoKkufoKku    
SCIENCE 

HkkxHkkxHkkxHkkx – I 
PART – I 

¼vkRefu"B iz'u½¼vkRefu"B iz'u½¼vkRefu"B iz'u½¼vkRefu"B iz'u½    
(Subjective Questions) 

(Academic/Open) 

[ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

[ Only for Visually Challenged Candidates ] 

le;le;le;le; : 3.20 ?k.Vs?k.Vs?k.Vs?k.Vs    ] [    iw.kk±diw.kk±diw.kk±diw.kk±d : 60 ¼Hkkx¼Hkkx¼Hkkx¼Hkkx–I : 30,    HkkxHkkxHkkxHkkx–II : 30½½½½     
Time allowed : 3.20 hours ] [ Maximum Marks : 60 (Part–I : 30, Part–II : 30) 

iz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkxiz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkxiz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkxiz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkx–I    ¼vkRefu"B½ ,oa H¼vkRefu"B½ ,oa H¼vkRefu"B½ ,oa H¼vkRefu"B½ ,oa Hkkxkkxkkxkkx–II    ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas 
ds mÙkj dksds mÙkj dksds mÙkj dksds mÙkj dks    viuhviuhviuhviuh    mÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxmÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxmÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxmÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk Hkkx–I    ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk 
ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk HkkxHkkxHkkxHkkx–II    ds fy, vkf[kjh dk ds fy, vkf[kjh dk ds fy, vkf[kjh dk ds fy, vkf[kjh dk 1    ?kaV?kaV?kaV?kaVssss    25    feuVfeuVfeuVfeuV    dk le; fn;k tk,xkdk le; fn;k tk,xkdk le; fn;k tk,xkdk le; fn;k tk,xk    vFkkZrvFkkZrvFkkZrvFkkZr~~ ~~    ijh{kk ijh{kk ijh{kk ijh{kk 
lekIr gksus ls lekIr gksus ls lekIr gksus ls lekIr gksus ls 1    ?kaVk ?kaVk ?kaVk ?kaVk 25    feuVfeuVfeuVfeuV    iwoZ ijh{kkFkhZ dks HkkxiwoZ ijh{kkFkhZ dks HkkxiwoZ ijh{kkFkhZ dks HkkxiwoZ ijh{kkFkhZ dks Hkkx–II    dk iz'udk iz'udk iz'udk iz'u-i= fn;k tk,xkAi= fn;k tk,xkAi= fn;k tk,xkAi= fn;k tk,xkA    

HkkxHkkxHkkxHkkx–I    ds iz'u&i= esa dqy ds iz'u&i= esa dqy ds iz'u&i= esa dqy ds iz'u&i= esa dqy 11    iz'u ,oa Hkkxiz'u ,oa Hkkxiz'u ,oa Hkkxiz'u ,oa Hkkx–II    ds iz'u&i= eas dqy ds iz'u&i= eas dqy ds iz'u&i= eas dqy ds iz'u&i= eas dqy 30    iz'u gSaAiz'u gSaAiz'u gSaAiz'u gSaA    

Question paper is divided into two Parts : Part–I (Subjective type) and Part–II 

(Objective type). Answer the questions of both parts in your answer-book. Part–I 

of question paper with answer-book will be provided with starting of 

Examination and last 1 hour 25 minutes of Examination will be given for 

Part–II i.e. question paper of Part–II will be provided before 1 hour 25 minutes of 

the end of Examination. 

Total questions in question paper of Part–I are 11 and of Part–II are 30. 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–I ds bl iz'u-i= esa eqfnzr i`"B 4 rFkk iz'u 11 gSaA  
 Please make sure that the printed pages in this question paper of Part–I are 4 in 

number and it contains 11 questions. 
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• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok LlEcU/k esa dksbZ Hkh nkok LlEcU/k esa dksbZ Hkh nkok LlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAohdkj ugha fd;k tk;sxkAohdkj ugha fd;k tk;sxkAohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i)    lHkh iz'u vfuoklHkh iz'u vfuoklHkh iz'u vfuoklHkh iz'u vfuok;Z gSaA;Z gSaA;Z gSaA;Z gSaA    

        All questions are compulsory.    

    (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ;s x, gSaA 

        Marks of each question are indicated against it. 

 (iii) vkids mÙkj vadkuqlkj gksus pkfg,A 

  Your answer should be according to marks. 
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1. ?kjsyw fo|qr~ ifjiFkksa esas Js.khØe la;kstu dk mi;ksx D;ksa ugha fd;k tkrk gS \ 2 

Why is the series arrangement not used for domestic electric circuits ? 

2. ¶ysfeax dk okegLr fu;e fyf[k,A 2 

State Fleming's left-hand rule. 

3. yksgs dh oLrqvksa dks ge isaV D;ksa djrs gSa \ 2 

Why do we apply paint on iron articles ?    

4. U;wySaM~l ds v"Vd fl)kUr dh dksbZ nksnksnksnks lhek,¡ fyf[k,A 2 

Write any two limitations of Newland's law of octaves.  

5. ,dfyaxh iq"i fdls dgrs gSa \ nksnksnksnks mnkgj.k fy[ksaA 2 

Which flower is called unisexual ? Write two examples. 

6. izdk'k ds viorZu ds fu;e fyf[k,A 3 

State laws of refraction of light.  

7. fo|qr~ eksVj dk fl)kUr fy[ksaA fo|qr~ eksVj esa foHkDr oy; dh D;k Hkwfedk gS \  3 

Explain the principal of electric motor. What is the role of the split ring in a 

electric motor ? 

8. dBksj ty dks e`n djus ds fy, fdl lksfM;e ;kSfxd dk mi;ksx fd;k tkrk gS \ bl ;kSfxd ds nksnksnksnks 
mi;ksx Hkh fy[ksaA 3 

Name the sodium compound which is used for softening of hard water. Write 

two uses of the compound.  
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9. esUMsyhQ dh vkorZ lkj.kh o vk/kqfud vkorZ lkj.kh esa rhurhurhurhu varj fyf[k,A 3 

Write three differences between Mendeleef's Periodic Table and Modern 

Periodic Table. 

10. ;kSoukjEHk ds le; gksus okys os ifjorZu fyf[k, tks yM+dksa o yM+fd;ksa nksuksa esa ,d leku gksrs gSaA 3 

Write those changes of puberty that are common to girls and boys. 

11. (a) ja/kz fNæ fdl izdkj [kqyrs vkSj can gksrs gSa \ 2 

 How does stomatal pore open and close ? 

(b)  ok;oh; rFkk vok;oh; 'olu esa rhurhurhurhu varj fy[ksaA   3 

 Write the three differences between aerobic and anaerobic respiration. 

vFkokvFkokvFkokvFkok    

OR    

(a) gekjs 'kjhj esa gheksXyksfcu dh deh ds D;k ifj.kke gks ldrs gSa \  2 

 What would be the consequences of a deficiency of Haemoglobin in our 

bodies ? 

(b) Lru/kkjh rFkk if{k;ksa esa vkWDlhtfur rFkk fovkWDlhtfur #f/kj dks vyx djuk D;ksa vko';d  
gS \    3 

 Why is it necessary to separate oxygenated and deoxygenated blood in 

mammals and birds ? 
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